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(7F)... = can be combined with an abstract noun to mean
“in term of, “ for instance, in terms of character, interest,
studies, work,ect.
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V3V ZEsignifies a repetitive action, e.g., £k 2

(walk back and forth), ¥k ¥ Z(fly here and there),
AE A8 2 (think over and over), 1.3k 1%, 2= (say again
and again), 112K 1712 Z(discuss again and again),

- WFFERMITIE 2 (consider[research]again and again)_
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Attributive + Iﬁ(] Noun(phrase)

\V/adj + ?E'z complement

Adverbial Hi  verb (phrase)
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A: it can be used to indicate a sudden

realization of something previously

unknown, a bit like "so it's been like that
~all along, how could I not have realized?".
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FR+A9+noun / S+,
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&+predicate

Use as originally or meaning “in the past,
before a change occurred.”
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Use as originally or meaning “in the past,
before a change occurred.”
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—=)L..., —=J)L.., —=JLX..

Used in this way, —=JL, —=JL, —2=JL X suggests two or
more alternative actions or states.If it is repeated three times,
there needs to be a X after the third —<= JL.The implication is
that someone or something is constantly changing or

unpredictable.
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Think about your
ideal %5 B A&/ 2 A
X must have in
these aspects.
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